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I Multipler 007 + 127 = 112X Mutipler

: 100 — 058 = 042 4 Less than | 100 + 012 = 112 4 More than |

| Reverse Percentages

I 1407 of my rumber is

| 40/ of my rumber & 16 84 What & the ongnl

: Wnat am | thinking of? umber?
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Year 8 Maths -

Term 1

| 5 & common factor of dl
numbers
Common factors are factors Two or move numbers shore
common factor
HCF of 18 and 30
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Percentage change @
[bought a phore for £200
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Geometry

I Square Opposite sdes are paralkl
| E:E’ Ol sides equal size m Oppostte angks are equdl
| 0l anges 40° Co-ritercy anges
| Opposite. sies are. porakel

1T e T e

| Ol angles 90° )

| b Oppestte sides are parale| hite

| Rhombus ..
| 0l sivkes: equal size ?
| Opposite. ongkes are. equal I/

No paralel ines
Equal brgths on Top sdes
Equal bngths on bottom sides
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One. par of poralel ines |
|
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|
One par of equal anges |

|_ are, the same. Size.

Because alemte ongks are
equal the highlighted anges are
the same size

Becoise correspondr ongles
are. equal the hghlghted angles
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Slraight bnes, around 4 peinl ond (Ines that tisect the parckl ines) |
| __ vertialy opposiel
| 3 |
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Corresporing (emate anakes |
| arges often _ often identified by [
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( anglkes on 6 ne add wp to 1B0° co-ritenor angks can ako be
cacuiated from applng oltemate.” corresponding rukes first
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Conanent figures are dentcal in
size and shape — they con be

reflctions or rolations of each
F other

o

Congruent shapes are Wentical — ol corresponding sdles
and angles dre The SoMe. Size

0C% - hM L
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Because al the ongkes are the some and O0-HM BO-LM
trianges OBC and BLM are congrvert

( Side-side-side

Oll three sies on the tronge are the same oze

Ongle-side-arge

Twio angles and the side cornecting them are equal in

Two sides and the ange n-between them are. equal n
two Triangkes (it wil ako mean the third sick is the same

size, on both shapes)

Tre trigrdes both have & nght angke, the
hypoterise ond ore side are the same
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| Trace the orignal shape
(mark the poirit of rotation)

A tieep the pont n the same
place and tum the {racing
poper

2 Draw the new shape

I [ Scaked dstances method ] [ Rays method ]

— =

Scake the dstance between the pant of — Miflipl the distance from the centre of
enlargement and each corresponding corresponding vertices by the scake
verlices factor abong the ray
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i Translation and vector notation

How far left or right to move

— Negative vabe (eft)
Vector " (_12)

Positive vake. [rgt)

How far up or down To moe
Negative, vale (down)
Postive. vabe (up)

Every vertex has been transiated
by the same. amourt

|
|
|
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|
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Probability

Probablitu of a sinde event : 11 The probabilty scae

|

Prm,hltu vumber of tmes evert happers | |

welow bals, so

‘ Probailty & akioe o vale between 0 ond | i :
they have the

| Linear Sequences — rcrease by oddfion or sublraction and the. seme ameurt. each time
| Nor-inear Sequences — do ot incregse by a corstant amount. — quadratic, geometre

| and Fboracct
Do net pt as straght Ines when modeled araphicaly

dision

Fibonacci Sequence. — ook out for this type. of sequence

+  The dffererces between terms can be found by addiion, subtroction, mutiplcation o

So 5 infervals on this scale, each
1
riterval vale & s

— I———————————————————————

| Sequence in a table and araphicaly

‘ Probablty is akiows o vale between O ond |
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| | :
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: total romber of possie cutcomes | | Impossie Even chance Certan || - )
| 4 PlEbe) - 4 @=There are 4 bie gwwﬂ Oor 07 ﬁﬁ,%or.’)ﬂf lor 1007 || 50 The probusity of getling & bhe bal s \
| oo™ D e o 0salas 1 1 (0" @) =Tre provovity of NOT getting a be bal & 5

er Y i overal || > I O L |
= more fkeky an event the further up the probabilty i sum of the probabiities &
| e 2 | Themoeek ( the further up the probabity £ | The sum of the probabiltes |
: et 3 I | __wil be n companson to another event |
Prebaiity can be o Fraztion, decinal or percertaze | | | o (K wil hawe a probatilty closer to | I .
| i I @) o | The table shows the probabiity of selecting a ype of chocolate
| Ve | | OOO / | | | | |
| | | | Dark Milk White
| 4 -40 -g40 -40/ 1 —T T T s 035
I 0 o | Thereare d ' | Il
| : | preond 2 There are 5 possibe outcomes || Pobtechmotie)- |- 015035
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I Posttion: the place i the sequence

3

3

5 7
Termy the number or vanable f

01 | A 3 Hh § {the rumber of squares in each image)
N :

Each term is the sum of the previous two terms /_ % halbk [“poumon | 1 [ 2 | 3 g
/=L Term 3|5 |7 3
_______________________ . ~v —¥ i

a 3 b
vences from algebraic rues s s sustivion
Seq M B Because the terme mncreose by the some addtion each tme ths Pesition

3n+7 32+ 7
This wil be Inear = nate. the sngle This &5 not Inear os there 5 &
pomer of 1 The vales incresse ol a porier for 1
constant rate
N Substitute the number of the tem you are boking for
ln - 5 inplace of '’

£4

B term - .1{[]—_'}-

2Mtem - 2{2) -

100 term = 2 [IOO} = |9

| Checking for a term I & SEGUeNCE. Form an equation

| kA0 the sequence 3n — 47

| x 3n—-4-20]

| Olgebraic rJIe

- Term 1o check

[ Soking this vl find the postion of the tenm in the sequence. |
L OMLY an infeger solition can be in the ;eabLer'ce |

| s bear — s seen n the araph
—

| () Findra the dgebraic e
Tssthe 4 4 4 8 |2 |6 20...4

fires tobe
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Thi hae the some. constant

7 ” 15 lq‘m 44— dfferance — bl 5 3 more than

the criginal sequence

n+3
JAERAN

This is the constant (diference) between the
dfference belween the tems ongnol and new sequerce
in the sequence
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Surface area and Volume

Volume of prisms Convertivg units of volume

Volume of a prism = area of cross section x length i Do the length conversion 3 times, ouce for each dimension.

L4 om3 =10 X 1m X Acm = 10mim X 10mim X 10mm = 1,000 mm>

1 W? =14m X Am X Am = 100¢em X 100em x 100cw = 1,000,000 cim?

L 1 1000 cm* =1 litre  so 1> =1000 litres

Surface area:

Front + back: lewgth x height x 2 (rectangles)
Volume = lengHn x widkh x il Side + side = width x height x 2 (rectangles)
Top + bottom = length x width x 2 (rectavgles)

Surface area:

b
Area of the 2 triangles ( %h for each ove)

i ’ Area of the three rectangles (note that
ase x perpendicular heigh+ i
N — perp . 9 X lewgyth +they may all be different)

Total surface area is all 6 faces added
together.

i radin
Cylinders E Surface area:

Top + bottom: Area of circle x 2.

| Volume = 1 x radius squared x height
height Curved surface area = area of rectangle

=qri

Total surface area is both added +ogether.

SA = 2mr? + 2mrh

The curved surface area is +he rectangular part of the vet of a /\

eqlinder. Tt has a length equal +o the circumference of the circle ::H-/'
+he +op of the cylinder and a height equal +o that of the cylinder.




